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Isometric Transformations: Rotations

Rotation: A transformation that turns the plane through a given angle about (around) a given
point.

In other words, a translation is a turn around a center point. The angle is called the angle of
rotation and the point around which the plane is turned is called the center poijnt of rotation.

But before we start spinning around, lets talk about angles and clocks.
1. What kind of angle is this? 2.

T’Tlgh‘l— - L —>

What kind of angle is this?
How many degrees does S‘fT‘O.l h'{"

it measure? ]
qo How many degrees does it measure?

A8l BC ¢l o
3. How many degrees are there in a quarter How many degrees are there in a half Al
rotation clockwise? G, Y --ztation clockwise? '-\> 2

8ke-Qrr 4oF 340 | 260. 1807 Gof 360

Did this rotate the same Did this rotate the same
direction as a clock or against it? direction as a clock or against it?

So a rotation e=mEt=w*clockwise means rotate So a rotation gaunter-clockwise means rotate

w ; % a clock. W;-\IL';’) a clock.

We can also say this is a -90° rotation. We can also say this is a -180° rotation,

@

4 How many degrees are there in a quarter % How many degrees are there in a half

rotation counter-clockwise? rotation counter-clockwise?
90° | 8§0°

Did this rotate the same Did this rotate the same

direction as a clock or against it? direction as a clock or against it?

agaunst ogal NSt
So a rotation counter-clockwise means rotate So a rotation counter-clockwise means rotate

Q_Q'al ﬂs+— a clock. Qﬁal nS'é: a clock.

We can also say this is a 90° rotation. We can also sa@is is a 180° rotation.
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Directions: Answer each question.

7a. Draw the line of reflection that maps ABC
to its image A’B'C’. Label the line R.

Al
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&

b. Draw arrows from each point in ABC to that
points image.

-

c. What is |AA’|, |BB’| and |CC|
h(? _2-_

[AA"|= |BB’|=

|CC’[=

d. What is the length along AA'to the line of
reflection? Is it the same length on both sides?

(\
e. Repeat question d for BB' and CC. @

B o R=1
P

Brod = p'+o R= I(
CtoR-1
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o R=4

f. This means that the line of reflection
bi SQC"@? AA’, BB’ and CC'.

g. What appears to be the angle where AA BB,
and CC intersect line R.
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This means that the line of reflection is the

Torpondi cular Bisedok: x

BB' and CC.

Hilda says that this is true of any line of
reflection. Quinn says that if isn't always true.
Which one do you think is cerrect. Expiain
your answer, -
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